p—————— 2 —
BRI 11
a5 (/1T %216
6 _/
i [
HilleE (@) o
N —
e 5 N~ ]
11 (| T1 T 16
“6 (| 13|
16
13
16 11}
— Qi%
: @ &
3
oL
16
& &
8
1 5
1. 1 12 —
Note: Measurements are in inches.
bUSTY’S Part: Classic Strap Hanger Scale: 1:1

RUSTIC ROLLING DOORS




v

7=\
UL R Ps
1|2 AN SO

I
< |
ﬁ{

Fany
Ay

S0
419/_% S

1§

e "F

Note: Measurements are in inches.

b USTY’S Part: Classic Strap Single-Track Bypass Hanger Scale: 1:1

RRRRRRRRRRRRRRRRRR




__2_-.
- 5
16
i\
b ] 1
416
al 5
7 %6
L'g N N
i
1 1
Z’I 12

1 -
53
3
1
2271
l ~| Minimum|— l
- 1 - 175
and
~ 1% —"llllaxlmum"— 1% -

Door Thickness

Length of

the Bolts, Washers, and Acron Nuts
(when in place)

\ Hanger

2]% ~—___ Minimum and

v

_i - Maximum

.-_-115 115 i Length based on

33 / Door Thickness

e 1-L -afe— Minimum
and
15 __l.—Maximum

Door Thickness

Part: Single-Track Classic Bypass Hardware Kit (Profile View)




4| 48 | 20| | 79 79 || 79
e 1818 | (240,.)| - 16 -~ 16 <~ 16 -~ 16 || - 16 <~ 16 <~ 16 -~ 16 - || - 16 -~ 16 <~ 16 -~ 16 - |
ST L m - e

18'[ - || 70 || 70 |
som | 54 | (216..)[-10-!-10 L16f16| |F1ette-F16-16-] |F16-16--16-16]
‘!‘546) | - 16 -I- 16 | ~af- ~af—4}- ~l4 ~ja--

~ 1 ~ 11
v 60 || 00 | | 7 |
(‘!3)'. - 161616 | | |-16-;16-;16- | [|l16t 161616
e - ool o -
(g..) | 16416416+ |
(180% | - 16 < 16 =~ 16 -} 16 |- 16 - | | - 16 - 16 -~ 16 - 16 -~ 16 |
5~ ~{5F—5~ ~5f-
o~ 66 | v | 84 I 84 |
%g | - 16 4~ 16 |- 16 - | (‘!Bﬂ:,)[ - 16 - 16 =~ 16 -~ 16 - | | 16161616 |
~ 9ok ~ 9o ~10}- ~10F— 10} ~10-
Note: Measurements are in inches.
DUSTY’S Part: Tracks (Page 1 of 2) Scale: 1:1




6" I 72 | 13’ | 79 || 79
(72) | |- 16 416 - 16 416 - | (158") | L16t16-16-164 | | |-16--1616-16 |
~HF- - ri- - 13-
v=ym } | o | | |
(679?) | -»104_-10?;10-!-10- | (144,.)_-16-!—16-?16-!—18-_' |_-1s-[-1e:ﬁ1e+1a-_|
73 T3 N e =ri
7 I 84 I 1 | - | 5 |
34") | - 16 - 16 |- 16 |- 16 | (1327 o_F 1816+ 16 | | Liet1et1e |
( ~10}- ~f10 ~oF oo~ o
an | I 0 | | |
?99) [-15-]-15-[-1960-[-10-1-15-J (‘1|2(0)")|. -16-]-?2-]—13- | i —18-!-103-1-18- |
~{51— ~I5/~ -6 ~{6]—{6~ ~{6]-
v | | | s | v | 54 | | 54 |
(986..)| -1ef1s~u || -1eﬁ1s~ | (123--;|_ - 18+ 16 - I | - 16+ 16 - |
~ 8} ~ 88} ~ 8- =1 M~ M b

Note: Measurements are in inches.

DUSTY’S

RUSTIC ROLLING DOORS

Part: Tracks (Page 2 of 2)

Scale: 1:1




SIDE VIEW

-1
1 8
9
\ 16 I
%16 FH—
1 1]
. % i 4 ok s 3
1 ? e @1%
-1 . 3
6 1§ 5
i L +
9
B % 3] | 16
8 \ 7 16 =
* \7'\ R 1 T 1
13 Szaim sl N L,
i i 3 — |
15 9
9 4 | 16 116 t— 16
L | f f
! % i ‘_‘ 3 L % —
- 16
o FRONT VIEW TOP VIEW
Supplied with the following:
2 - 1/4” (M6 x 6) Set Screw
1-3mm Hex (Allen) Wrench Note: Measurements are in inches.
DUSTY’S Part: Door Stopper Scale: 1:1




g}—%
) |
11
8
9
o ; i
;)
4
Note: Measurements are in inches.
DUSTY’S Part: Spacer Scale: 1:1

RUSTIC ROLLING DOORS




1 — =z 1
2 * r 8
3 qir
8 il |
* —— B BEEE— %
NOTE:
Supplied wi e following:
1—p15!1"i7 Vt\;log:l Sfclrlew ’
Note: Measurements are in inches.
2 8 ’ .
DUSTY’S Part: Anti-Jump Pad Scale: 1:1
RUSTIC ROLLING DOORS




©-©-© oLy
]

NOTE:

Supplied with the following:

4 - Flat Head Hex (Allen) Screws
4 -6 mm Nuts

1 -4 mm Hex (Allen) Wrench

Note: Measurements are in inches.

DUSTY’S

RUSTIC ROLLING DOORS

Part: Junction Plate

Scale: 1:1




\L
/T

Z
!

Y
N
Y

S~ -
3
— 1% = 16 ‘
3
' 1" %
j—'—m = RN =il ?
7
5 e T e B
A
16 ™16 ™
NOTE:
Supplied with the following:
2 - 1" #8 Sheet Metal Screw
2-1-3116" (6 x 30) Plastic Anchor Note: Measurements are in inches.
9 .
DUSTY’S Part: Floor Guide Scale: 1:1
RUSTIC ROLLING DOORS




N
— 0oln T

NOTE:
Supplied with the following:

N=

1-16mm M6 Socket Button Head Screw (3/4” long)

1 - M6 Flat Washer (1/2” across)
1— M6 Nut (3/8" across)

1 per set of 2 brackets — 4 mm Hex (Allen) Wrench (5/327)

Note: Measurements are in inches.

DUsTY'S

RUSTIC ROLLING DOORS

Part: Anti-Jump Bracket for Single-Track
Bypass Hangers

Scale: 1:1




-

N
>
D

J

NOTE:
Supplied with the following:

Ni=

2 - M5 Phillips Truss Head Screw (1/2” overall length)

2 - M5 Nut (5/16” across)
2 - 6x30mm Plastic Anchor (1” long)
2-M6 x 24 mm Sheet Metal Screw (1” long)

a3

, ]
g_
1 [
= 15
I S ® | &
o]
LLIL TIGd
3 1 JL3
16 5 16
8
3 1
O 4 3
16 Vs

N

ol

Note: Measurements are in inches.

DUSTY'S

RUSTIC ROLLING DOORS

Part: Outer Door Floor Guide for Single-Track
Bypass Hardware Kit

Scale: 1:1




